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 41 circles in a circle

radius =   0.450147029552
ratio  =   2.221496387515

density  = 0.871913475311
contacts = 66
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N = 42
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 42 circles in a circle

radius =   0.449425372562
ratio  =   2.225063516772

density  = 0.873929208403
contacts = 58
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N = 43
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 43 circles in a circle

radius =   0.449242884135
ratio  =   2.225967367128

density  = 0.877913106528
contacts = 64
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N = 44
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 44 circles in a circle

radius =   0.448476939876
ratio  =   2.229769049614

density  = 0.879493204866
contacts = 70
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N = 45
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 45 circles in a circle

radius =   0.447361215250
ratio  =   2.235330122304

density  = 0.879570006380
contacts = 72
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N = 46
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 46 circles in a circle

radius =   0.446290273264
ratio  =   2.240694139906

density  = 0.879693717597
contacts = 66
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N = 47
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 47 circles in a circle

radius =   0.444211598882
ratio  =   2.251179398548

density  = 0.875716531161
contacts = 86
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N = 48
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 48 circles in a circle

radius =   0.443523551581
ratio  =   2.254671699925

density  = 0.877103996529
contacts = 78
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N = 49
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 49 circles in a circle

radius =   0.442560776499
ratio  =   2.259576657270

density  = 0.877297340744
contacts = 80
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N = 50
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 50 circles in a circle

radius =   0.441824190114
ratio  =   2.263343706331

density  = 0.878283642562
contacts = 70
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N = 51
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 51 circles in a circle

radius =   0.440360204781
ratio  =   2.270868232741

density  = 0.876275192575
contacts = 88
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N = 52
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 52 circles in a circle

radius =   0.438737534209
ratio  =   2.279267037873

density  = 0.873530911463
contacts = 74
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